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afr El-Sheikh University
Faculty of Engineering

Open Channel Hydraulics (CES3119)
Final term exam.

Date: 24 december, 2017

Third year civil Time : 3 hour

Examiner: Associ. Prof. Moustafa El-Enany Full mark: 125 marks

Civil Engineering Dept.

Answer all the following five questions

Any other required data may be reasonably assumed. (s !'22 2;2 2 (3 22; i-!L..:uy;
Question No. (1) [24 marks] (Al13, B2, C1)

Design a stable hydraulic section that conveys 200cfs, n = 0.03, permissible tractive

force (1,) = 0.4 Ib/ft*, bed slope (S) = 0.0012, angle of internal friction (g)= 30°,

V=135'—119tan¢y?}65-05 b ,Vo= TO ’ Y=Yo cos wn¢x
E 0.97/8 Yo
P 204}’(}:) i T = n(ng'ven _gcafcu!awd) , T =096T l-l N QS*\’CI'
tang 1_49},(/]330-5 1_ calculated

Question No. (2) [16 marks] (A13, B2, C1)

A rectangular channel of bed width of 5m carries a discharge of 10 m’/sec at a

depth of 0.5m, calculate the change in water levels in the following two cases::
a- The bed level is decreased by a depression of 1.0 m [8 marks]
b- The bed width is expanded to 6m. [8 marks]

Question No. (3) [20 marks] (A13, B14, C1)

A model of a dam is to be built with horizontal scale (Ly) = 1‘:2000 and vertical

scale (Ly) = 1:20 according to the following data:

Prototype data: dam length = 200m , water depth = 10m, length of backwater

curve is approximately 10 km, discharge = 1000 m’ /sec,

It is required to determine the flume dimensions and pump discharge in the

laboratory.
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